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Bigger Numbers

Student'’s Learning Outcomes: P~

After studying this unit, students will be able to: &
e read and write big numbers in international and Pakistani style. *
e convert a number in expanded form and vice versa.

What happens when we add 1 more to the biggest 6-digit
number 9999997 e AT L ST 299999955 516 g g

Thousands [Hundreds Tens Ones
H.TH TTH | TH H T | O
) @ @ @ @
9 9 9 9 9 9
+ 1
1 0 0 0 0 0 0

Now it has become 7-digit number. So, we make another house
(period) forit. and put ‘1’ in the house of ten lakhs or one million.
b I b L G SV Nt 2l o 1 b C AT e s a5 T

Lakhs Thousands | Hundreds Tens Ones

M H-Th| T.TH TH H T O

1 0 0 0 0 0 0
999999 + 1 = 10,00,000

One Million or Ten Lakh
SEel SN Place these 7-digit numbers in periods and write in
words both in Pakistani and International way.

S B )ﬁ}mi&cf;J:!L,f.‘{duﬁsﬁw;fﬂ?ui

a. 1461089 = 14,61,089
Pakistani =  Fourteen lakh, sixty one thousand and eighty nine
1461089 = 1,461,089
International =  One million, four hundred and sixty one thousand
and eighty nine



b. 2202020 = 22,02,020

Pakistani =  Twenty two lakh, two thousand and twenty.
2202020 = 2,202,020

International =  Two million, two hundred and two thousand and

twenty
Write these numbers placing your commas correctly:
[ P N

a. Thirty nine lakh, forty thousand and twenty= 39,40,020

b. Ninety nine lakh, ninety nine thousand = 99,99,999
nine hundred and ninety nine

e. Sevenmillion,one hundred andtwenty = 7,123,456

three thousand, four hundred and fifty six

One Crore or Ten Millions
o Job s L
Here is a number 21345678. We can write it in two different

ways: BE I P e i 6121345678
1. Pakistani place value chart. Lgbed S

2. International place value chart. .:.utgﬁ:.-...fgwﬂ;m

T.M stands for “ten million”. e U e TM

Remember:
In International style comma ", " is placed
after every 3rd digit from right to left.

- - =" T . Bt .
el e me Lo St S RE AT P
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@ Place these 8-digit numbers in periods

a. 24637932
b. 84378811
c. 20202020
d. 32400865

U s 8
Pakistani Style International style
2,46,37,932 24,637,932
8,43,78,811 84,378,811
2,02,02,020 20,202,020
3,24,00,865 32,400,865

Write down the number names according to
international style: -u:“’"}u:m;,a_ A

a. 23,234,234

b. 11,100,001
20,303,404

Twenty three million, two hundred and thirty four
thousand, two hundred and thirty four

Eleven million, one hundred thousand and one
Twenty million, three hundred and three
thousand, four hundred and four

Expanded Form  f3%7

We can split a number into sum of place values. For example
:.;x?id&.;,{}é i r st Qe Ui e At §e AL ST

3456

= 3000 + 400 + 50 + 6

Write the given numbers in expanded form:

a. 346278 =
b. 1450868 =
c. 324666 =
d.

S B e o

300,000 + 40,000 + 6,000 + 200 + 70 + 8
1000000 + 400,000 + 50,000 + 800 + 60 + 8
3,00,000 + 20,000 + 4,000 + 600 + 60 + 6
35276707 = 30000000 + 5000000 + 2,00,000 + 70,000 +
6,000 + 700 + 7

-—




@ Write down these numbers in expanded from. _,L;;'Gu:f@:’ 3l
346278 = 300000 + 40000 + 6000 + 200 + 70 + 8

467999 = 400000 + 60000 + 7000 + 900 + 90 + 9

2400778 = 2000000 + 400000 + m_o_o+o_o_o+7o_o+70+8
31580980= ! ! :
Predecessor

Predecessor of a number is a number which comes just before
the given number. For example, predecessor of 893,621 is 893,620

an oo

and predecessor of 380,900 is 380,899 s4olbe
380.900.5<893:620: wtls 893621 b L Jr o T e sl o s2c mmssitisibois”
--380:899;.404%K

Successor

Successor of a number is a number which comes just after the
given number. For example, successor of 354,289 is 354,290 and

successor of 530,999 is 531,000 sl
5'530,999”!.*:_3 54,3 ﬂﬂJﬁLﬁﬂ 54,2 39.;1:1’ idﬁh%ﬁﬂi Jﬁzé.u‘: L'vins :ﬁlﬁ&-)ﬁlf"
-&-33 1000;.£

Ordering Numbers 27/

Ascending Order ($2*o</
In ascending order, we first write the smallest number. Then we

write the number which is bigger than the number already written
and so on.

q,ELIgEffifﬂlwﬁjﬂufajﬁL vl s |/£-L,ﬁ£%)ﬁﬂ')§ e A7
Write down the given numbers in ascending order:
Sz e s

a. 346,587 , 285569 , 887,766 , 285667 , 345598
In ascending Order:

285569 , 285667 , 345598 , 346,587 , 887,766

B )




aswyy (W

@ Write down these numbers in ascending order:

_u:{ﬁd:wﬁ}:ﬁuw

a. 214779 , 124,567 , 368,298 , 214,779 , 214,667
124,567 214,667 214,779 214,779 368,298

r r !

b. 437,268 , 436,289, 437,826 , r437’,883 , 437,286
436,289 437,268 437,286 437,826 437,888

I I

c. 423213 ., 572133, 172361 , 736982 ., 637,298
172,361 423213 572,133 637,298 736,982

) r [ I

Descending Order (4727

In descending order we first write the biggest number, then we
write the number which is smaller than the number already written
and so on.

Utz ET p sl nest aswin A @l oty o fiutbsd o
Write down the given numbers in descending order:

‘u_:,ﬁ ufd:)w:;f J!ﬁiié..!
a. 463,728 , 863,799 , 568,733 , 257,608 , 300,809
In descending Order: (SN ess

863,799 , 568,733 , 463,728 , 300,809 , 257,608

@ Write down these numbers in descending order:
s L e
a. 356,738 , 462589 , 637398 , 463,289 , 354,328
637,398 , 463,289 , 462,589 ' 356,738 ’ 354,328

b. 285320 , 285326 , 283,562 , 286,627 , 285,567
286,627 285,567 285,326 285,320 283,562

I ! )

c. 625424 , 328756 , 483868 , 826667 , 576,992

-———



@ Write down the numbers placing the commas correctly:

.J.‘.”gl,wtﬁ_ﬂl.ﬁgf s
Ten thousand, one hundred and one 10,101
Forty nine thousand one hundred and ninety four 49,194
Three million, two hundred and nine 3,000,209

Twenty million, six hundred and fifty thousand 20,650,000

Write down the number names in Pakistani way.
Bl 8 e S
93,46,200 Nin ree lakh ix thousand an hundr
16,00,000 Sixteen lakh
2,23,03,030 Two crore, twenty three lakh, three thousand and thirty

CELES

a

b

C

@ Write down the numbers in words in International way.
.ﬂduﬂa&)yfiﬁwl

< e e

a 1 housand. fou :
b. 67500600 Sxity seven mllhur_\I fwe hundred thousand, six hundred
¢. 15,806,789 Fifteen million, eight hundred six thousand, seven hundred and eighty nine

Write down numbers placing commas correctly.

a.  Sixty four lakh and forty e nZ S s
—64.00.040
b Two crore, forty three lakh and thirty
2,43,00,030
c.  Eighty seven lakh three thousand and fifty
—87.03.050

d. One crore one lakh and one.
1,01,00,001

B )




@ Write down the given numbers placing commas correctly.

(i) PakistaniWay . Adet (ii)

2567400 __25,67,400 b
4404404 _44,04.404 d.
12300000_1.23.00,000  f
40404067_4.04,04,067  h.

Write down in expanded form:

oS
International Way s AJ=x
1300030 1,300,030
6837209 6.837,209
90000915  _90.000.915
50950942  _ 50,950,942

P

,@.ﬂ-r\ «:r.m,@t.ﬂfnnp

536829 500000 + 30000 + 6000 + 800 + 20 + 9
1308090 1000000 + 300000 + 00000 + 8000 + 000 + 90 + 0
2250076 ZOW + 000 + 70 + 6
18360899 1 1
Write down predecessor and successor of the given numbers:
-Uﬂﬁlﬁ;ﬁlllf;&iﬁfiéj
Predecessor Number Successor
a. 1,248,096 1,248,097 1,248,098
b. 46,368,098 46,368,099 46,368,100
c. 8,400,099 8,400,000 8,400,001
d. 1,398,998 1,398,999 1,399,000
e. 22,800,899 22,8,00,900 22,800,901
Write down the given numbers in: _J:”‘jf,mig__,;

“ lLascendingorder Jifmess

ii. descending order i

a. 365253 289376 466479 586,374

289,376 365,253 466,479 586,374

586,374 466,479 365,253 289,376

b. 257,830 257,998 257,488 596,673

257,488 257,830 257,998 596,673

596,673 257,998 257,830 257,438

c. 869,543 869537 869,570 868,504

868,504 869,537 869,543 869,570

869,570 869,543 869,537 868,504

-—



' Multiplication and Division

n

pr)

ﬁ"‘ Jljl_-l"'_j

. Student’s Learning Outcomes:
After studying this unit, students will be able to:
e attempt the multiplication of 3-digit numbers.
e attempt the division of 2 and 3 digit numbers.

Multiplication of Three Digits Numbers

Pl

@ Multiply the following. Lo St
a. 350 by 22 b. 250 by 18 c. 291 byll
350 250 291
X 22 Xx 18 x 11
700 2000 291
7000 2500 2910
7700 4500 3201
d. 353 by19 e. 320 by 24 f. 400 by 26
353 320 400
x 19 X 24 X 26
3177 1280 2400
3530 6400 8000
6707 7680 10400
g. 449 by 23 h. 735 by 42 i. 338 by 37
449 735 338
X 23 X 42 x 37
1347 1470 2366
8980 29400 10140
10327 30870 12506

m



@ Find the product.

a. 321
x 111
321
3210

32100
35631

€. 438
x 273
1314
30660
__ 87600
119574

. 203
X 437

1421
6090

88711

b. 231
X 123
321
3210
32100
35631

f 743
X 762
1486
44580
520100
566166

J. 832
X 320
000
16640

249600
266240

C. 456
X 325

1123 by 38

321
3210
32100

35631

g. 658
X 323

1974
13160

197400

212534

k. 416
X 282

832
33280
33200

117312

5124
25620
512400
543144

. 326
x 708
2608
0000

228200
230808

-— 0



Word Problems  -ui»{\#
1. If the cost of one book is 60 rupees then find the KJ‘EE
cost of 180 books? Lonon
10800
358
2. 48 boys can sit in a room. How many boys will é_s‘s‘i
sit in 358 such rooms? 14320
17184
237
x_58
3. The price of one dog is 237 rupees. Find the 1896
price of 58 dogs? %ﬂg
386
X 135
4. The weight of a cow is 386 kg. Find the weight of lﬁgg
135 such cows? —%‘i&%—

Division <~
@ Find the quotient and remainder. Check your answer.
VO TSN WPy o

B )

11 8 5
a. 4)47 b. )53 C. 5)26
_44 _48 _25
3 5 1
Quotient = 11 Quotient = 8 Quotient = 5
Remainder = 3 Remainder = 5 Remainder = 1
11 8 5
X 4 X 6 X5
44 48 25
+ 3 + 5 + 1
47 53 26




6
d 3)18
18

0

Quotient = 6
Remainder = 0

6
X 3
18
+ 0

18

@ Divide
307

a.2)614
6

_14
0

84

d. 8)675 X 8

64 7672

35

32

3

@ Solve the following.

and check.

307
X 2
614

84

43
675

317
a. 5)1585
15

8
>

35
35

- ey

0

106 | 106
b.6)636 X 6
6 | 636

C. 3)921 X 3
9

68 84

e. 5)342 X 8

30 7672

—-—| 675

42
f. 7)300 ¥ 7

42 + 3

952
b. 3)2856
27
15
15

6
— 6
0

Quatient = 9
Remainder = 4

9
X 6
54
+ 4
58

el S
307 [ 307

=~ | 921
21
21
0

42

28 | 294
20 + 6

14
6 300

SIS e
1521
2)3042
30
42




1212 374 432
d. 4)3848 e. 35%122 f 55%310
-8 22 4T
8 21 40
4 12 10
4 12 10
8 0 0
8
0

Word Problems =y~

1. An ice-cream cup costs Rs. 27. How many
27)162
cups can be bought for Rs. 1627 162
6 Cups 0
20

passenger can be seated in a bus?

20 Passengers

2. 8buses can carry 160 passengers. How many 38 Y160
160

0

_0

0

14
3. There are 126 trees in 9 rows. How many 9)126
trees are there in each row? %
14 Trees _36
0
4. Rs.980are distributed among 28 persons ==
e , 9sop : 28)980
How many rupees will each person get? 84

35 Rupees

- ey




23
5. Aslam purchased 28 note books for Rs. 28)644

644. What is the purchased of each note book? 260 68?4

23 Rupees —3{;4
21
6. Saadia reads daily 18 pages of a book 18)378

of 378 pages. 36

In how much days she will finish book? ig

21 Days 0




Simplification

. Student’s Learning Outcomes: o~
After studying this unit, students will be able to:
e apply DMAS rule to solve questions. Pt
e solve problems using different brackets. ?“]1;{

We know that how to add, subtract, multiply and divide, but we
used only one mathematical operation at a time. Now we will learn
how to solve the questions in which more than one mathematical
operations are involved.
= A gt S Qo i p i LB e v e oo P S

s e LA uL S i S L

c. 7—-9+8 d 3-12 + 15
Solution: Solution:
Re arrange these because 9 /79=£7  Rearrange these. sAssd el
cannot be subtracted from 7.  -(Fxuf Il
It becomes IZiAned  3+15-12
=7+8-9 =18 - 12
= 15-9=6 =6
@ Solve these: L
a 9+3+11 23 b. 6+7-5 e
9+6-12 8+ 20-15
c. 9-12+6 3 d 8-=15+20 13
5+7-11 25 + 10 - 15
e. 5-11+7 1 f 25-15+10 20




M A

There may be situations when multiplication is also involved with
addition and subtraction,  _»JU 27 L0 ,ﬁ};ltf_,.qﬁ;.&cﬂdm:.w‘ufl(ﬁ(
Like3+4x2, 8-2xb6etc

In such situations: I L N1 1)
%  First do multiplication Yy )
»  Secondly do addition. -t S s
»  Thirdly do subtraction. LS
Solve these: ./ Ufiu
a 5+6x2 b. 8 -3 x2
Solution: Solution:
First multiply Ui P First multiply o P &L
so, 5+6x2 = 5+12 so,8-3x2 = 8-6
Now add J/T+ Now subtract LI
5+12 = 17 8-6 = 2

Hence, 17 is the answer. -« 1720 Hence, 2 is the answer. -« 21207

@ Solve these: ./ f s
a. 12+10 x 5 b. 30 - 8 x 3
12 + 50 = 62 =30 - 24 = b6
BODMAS Rule /5§ BODMAS

There may be situations when all four mathematical operations
are involved in a problem. In such situations, we use BODMAS rule.
¥BODMAS ALt Jirte (T AUty Ut o LI I e U

920018 2B
BODMAS stands for: -&-3 2« BODMAS
B = Brackets O = Of
D = Division M = Multiplication
A = Addition S = Subtraction

-——



b LAt

It means first solve ‘Brackets’, secondly solve the ‘Division’,
thirdly solve ‘Multiplication’ then ‘Addition’ and lastly ‘Subtraction’.

LA PEFILSG S AL EAGIS S e ok

Solvethese: 3+9-2x8 +4 LSS
Solution:
3+9-2x8 +4 [Divide first 8 = 4]
= 3+9-2x2 [Multiply 2x 2]
= 3+9-4 [Add 3 + 9]
= 12-4 [ Subtract 12 - 4]
=8
Simplify: 32 + 8 + 4 - 2 x 3 WAL
Solution:
32+ 8 + 4 -2 x 3 [Stepl: Divide]
= 4+4-2x3 [Step 2 Multiply]
=4+4-6 [Step 3: Add]
=8-06 [Step4: Subtract]
= 2
@) Simplify these: LS
a 18 x6+2-24 + 10 b. 45+ 5 + 7 x 11 - 20
=18 x 3 - 24 + 10 =9 + 7x 11 - 20
=54 - 24 + 10 =9 + 77 - 20
=64 - 24 =86 - 20
=40 = 66

F
Brackets u’“«r /

Brackets are also used in mathematical problems to change the
priority. sl L ,L’.._{ PSSy - et
There are three types of Brackets, SUAE S
I. () These brackets are called Parentheses. -wﬂufuh{fdfkﬁﬁ ~

B )




S——— A

ii. { } These are called Braces wa&ff%k‘ﬂf
iii. [ ] These are called Square Brackets. ,;_gdu,fu{;dz,

Mostly () are the inner most brackets and are solved first, { }
are solved at second placeand [ ] are solved in last place. If we have
a problem with mathematical operations and brackets, then
according to BODMAS rule we first solve the brackets.

eSS S A Vst { 3 e rir-uttBed S &t Ybteor ot
LSS S & eE £ yieBoDMAS ATusuin e o st s

@ Simplify the following. LA St
a. 24-[5+{8-(9-6))] b. 10+ [3+{5-(12 + 4)}]
= 245+ {8-3}] = 10+ [3+{5-3}]
= 24-[5+ 5] = 10+ [3+ 2]
= 24-10 = 10+ 5
= 14 = 2
C. 4+[15-{7 + (6 +2))] d. 100-{80 + (20 x2)} + 3
= 4+ [15—{7 + 3}] =100—{80 + 40} + 3
= 4 +[15-10] =100-2 + 3
= 4+5 =103-2
=9 =101

@ Solve the following questions: SIS St St
a. 3+5+7 b. 2+9+6

=15 =17
c. 3+9-2 d 8+6-4

=12-2 =14-4

=10 =10

-——



e. 5-6+7 f 8-9+11
=12-6 =19-9
= =10
g 11-6-2 h. 14-9+6
= 5-2 = 20-9
= 3 = 11
. 5-7+10 J. 11-13+10
=15-7 = 21-13
=8 = 8
@ Solve these: BINLLY
a. 3+8x5 b. 6x6+9
= 3+40 = 36+9
= 43 = 45
c. 2+6-5 d 2+2x2
=8-5 = 2+4
= =6
e. 6+3-2+2 f 2x2+ 2
=2=-2+2 = 4+2
= 4-2 =6
= 2
g 4-4+4 h. 16+4x4
=4-1 = 4x4
=3 = 16
L 12x6+2 Jo 15x3+6+2
= 12x3 = 15x3+3
= 36 = 45+3
= 48




k.

2

C.

2+2%X2+2-2
2+2x1-2
2+2-2

4-2

2

Simplify the following:

4+[5-{5-(6 +3x2)}]

=4 +[5-{5-(2x2)}]
=4 +[5-{5-4]]

=4 +[5-1]

=4 + 4

=8

100 -{80 + (20 x 2)}

=100-{80 + 40}
=100-2
=98

73—-{14 + (92-52) = 8}
73—{14 + 40+ 8}
73—{14 + 5}

73-19

54

39-[6+{5-(6-3)}]
39-[6+{5-3}]
39-[6+ 2]

39-8

31

b.

8+12+3 -6
=8+4-6
=12-6

‘q;ﬁff(_tﬁﬂ
24-4+(6-(9-6))

=24-4+{6-(9-6))
=24-4 + {6-3)
=24-4+3

=27-4

=23

d.

{45+ 42+ 6)-9} +4

={45+7-91+4
=43 +4
=47

60-[48-{16 + (8—-4)}]
60-[48—{16 + 4}]
60-[48-20]

60-28

32

100x[12-{42—-(13 + 26)}]
100x[12—-{42-39]]
100x[12-3]

100x9

900

-— 0



. 40+[35x2—-{6+4+ (4x5)}]
= 40+[35x2-{6+4 + 20}]
= 40+[35x2-30]
= 40+[70-30]
= 40+40
=1

J. 6+[12-{5+16 +4—-(1 + 2)]]
=6+[12-{5+16 + 4-3}]
= 6+[12=-{5+4-3]]
= 6+[12-6]
= 6+6
=12




After studying this unit, students will be able to:
e find the place value of digits in a decimal number.
e add and subtract simple decimal numbers.

We already know that when we 221056, Loz SUZ bgdl A

divide a whole number in 10 equal o . up
/ 32 g SIS LS
parts then each of these parts is =~ A

1
called a tenth and is written as: 116 ~€-""?“ﬁﬁ
[ | (O | O |
|10 || 10 || 10 || 10 || 10 || 10 || 10 || 10 || 10 || 10 |

We can write the fraction 1—0 in an other way, which is called
decimal fraction. E = 0.1 (Itisread as 0 point 1)

_..l,fﬁ.;lfjl:‘-ﬂﬁf;ﬂ)--‘é-d M/d}lﬁﬁﬂgﬁi nﬁd.%)g./ufl—]b/ﬁ

In 0.1, " is called a decimal point. It separates a whole number from a
fractional number. The whole number is to the left of the decimal
point. -Lt‘!i‘_j);ﬁ-‘:-le.ﬁﬂéﬁ)ﬁ >l aﬁ?&/fﬁﬂ H-LFM,;WIE“.”JOJ

The coloured part c-f fig (i) shows the fraction & or 0.4 and

10
fig (ii) shows the fraction 15 ©F 0.7.

-t/ 0. T3 (i)f;;lf/gf{l 4495 .,mu.f.;a’(l)f

" —~ or 04 "’ L or 07
IS ’ 16 " °

fig () Part is shaded Fg (i) Part is shaded

0.4 is read as 0 point 4 and 0.7 is read as 0 point 7.
B2 YT 2910 0.7 1514 42410 /0.4



@ Write the coloured part of given shapes as a fraction and also

as a decimal. s A 2 b L IS
a. b. £
2 - 03 2 =88 B - 0B
10 10 10
@ Write these fractions as decimals. S A
2 _ i L
a. |35 = 0.2 b. g = 0-6 C. |qg = 08
d |2 = 0.9 e. [ = ik £ |2 =03
10 : 10 : 10 '

Place Value of a Decimal Number . s §ou$ 124

So far we have learnt the place value of whole numbers. Now we
will learn, what is the place value of decimal numbers?

?‘5.3;-5!@&5 eSS Aze S L oE A& dkte h Ladfind. :Iﬁlg_)‘; b

Hundred Tens Ones Tenths
1 2 3 . 4
Place value of 3 is 3Ones or 3. e KB 63
Place value of 2 is 2 Tens or 20. e 200U 28 5652
Place valueof 1 is 1Hundred or 100. +1005r)53' ledyedl
(.)is called a decimal point. b A ()

4 | s 4ed iS4

10°

4 =044
10 ©F 04. -«

R )

Place value of 4is 4tenths or




@ Find the place values of circled digits. -g_,_nf}:h’u:'""f Je-dursd o
a 2.4 = 3 b. 468® = 0.6
®71.8= _30 d 801 = _7
e. 307.3= 10 f @85.4 = 700
g 4050%= _05 hh 881.D = _ .1
. 9©@7.7= 90 j. ®50.9 = _800
How to write Mixed Numbers as Decimal Numbers
ez e S AL S ol b
Consider a mixed number 3 - 10 . In this number 3 is a whole
number and 10 is a fraction, it is written as 0.8 So 3 can be
written as 3.8.
33tz 0.8 Utg L S el B subB i 35 I

+t@wﬂ’3.3f

O Write given mixed humbers as decimal numbers.
S E v fnanE L s

a 3x10+5=135 b. 15x 10+ 1 = 151
B 3 1 _ 151 _

& 23x 10 + 4 = 234 d. 31x10 + 7 = 317
4 234 7 _ 317

23 10 - —10 = 23.4 31 10 ~ —10 = 31.7

e. 34 x 10 + 8 = 348 f 55 x 10 + 9 = 559
8 _ 348 _ g . 589

34 0 - 10 - 34.8 55 0 - 10 - 55.9

-—



b LAORREN

Addition of Decimal Numbers
OZJ)IﬁIdJW'

Addition of decimal numbers is same as the addition of whole
numbers. Look at the given examples.

- So# ,;uﬂ'ﬁ'g:f :..:.:.J;f{,ﬁ‘*u'-q & J:!ﬁiy th A aeh 5 A2#

Add 134 and 26.3 /642634134
Tens Ones Tenths
13 .4
+ 2 6 . 3
3 9 .7

Stepl: Write the numbers in such a way that decimal sign of a
numbers must be exactly above or below each other.
2 TEA P L crte§ g et Ersie panc it SEN S0 Y e b et g

Step2: Firstly, add tenths in tenths LG Ui st o
4 + 3 = 7 andwritethe answer. .u.?g?l£;:14+3=7
Step 3:  Place (.) below the points. SLOL LSy A
Step4: Add3and6 ie 3+6=9 LGS 63: 056
Step5: Addland2ie, 1+2= 3 LG 2 p s g
So, the answeris 39.7 Ty
Add 38.7 and 44.6 /G /44.6.438.7
Tens Ones Tenths
® ®

3 8.7

+ 4 4 . 6

8 3 . 3

Step1l: 7+ 6 =13, 3is atenth place number. Carry 1 to
the top of 8 (the ones place number).
(s 3612 1 L8 S L J oK s iplng w3 T + 6 = 13051k
Step 2:  Place a decimal sign below the decimal sign.
-J”ﬁé&,JlewJ L EF R 9

B )
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Step3: Add @D + 8 + 4 =13, here 3isaones place number.
Carry 1 to the top of 3 (tens place number).
(»:'_.JJF'LEQJ:?: lajfﬁ.gﬂz. 3L Jukl ..r;'_.ﬁﬁl'féﬁ?) Il'ﬁ! Ve
Step4: Add D+ 3 + 4 =8 write it below the tens place number.
So, the answeris 83.3 (read as 83 point 3)

(U2 13 o A1835 )83 32 A 0S8 (D 3 + 4 = 8) 02

@ Add the following decimal numbers. S g et s
a. Tens Ones Tenths b. Tens Ones Tenths C. Tens Ones Tenths
3 4 . 4 4 5 .3 6 4 .5
+ 2 5 .1 + 2 2 . 4 + 2 6 . 5
5 9 . 5 6 7 . 7 9 1 . 0
d. Tens Ones Tenths €. Tens Ones Tenths f Tens Ones Tenths
6 4 . 8 3 5 . 6 4 3 . 8
+ 1 7 . 9 + 2 7 . 6 + 2 8 . 6
8 2 . 7 6 3 . 2 7 2 . 4

Subtraction of Decimal Numbers
JjJJfﬁl[jJE’jl

Subtraction of decimal numbers is same as of whole numbers.

Look at the given example. _
-~/ SF 4;)[?*6% &S )J&_ ) J}!JIJ)/ J: /'J J oS AR

Subtract23.2 from 86.7 LII 3.2 486.7
Tens Ones Tenths
8 6 . 7
- 2 3 . 2
6 3 . 5

Step1: Write given numbers such that decimal sign of smaller
number is exactly below the decimal sign of larger one..
LTE Lol yieonSoseesparw§y oSl o S L0 P il o sip g

-———



Step 2: 7-2 = 5. (Tenths is subtracted from tenths)
(wtﬁz—ur&_,ﬂfuffﬂﬂ-tﬁuffﬁ)? -2=5 :rﬁl/u
Step 3: Place a decimal sign below the decimal sign.
N PO S PO

Step 4: Subtract6-3 =3 6-3 =3y /37 riiz
(ones from ones) (Ut o s
Step 5: Subtract 8 - 2 = 6 (tens from tens) 3P 8-2 = 6 piuif
So, answer is 63.5. -e-63.5 A2 (Ul UL
Subtract46.8 from 93.6 /37 46.893.6
Tegs 0®nes Tenths
&)
91316
- 4 6 . 8
4 6 . 8

Step1l: 8 cannot be subtracted from 6, so borrow 1 from ones
place digit 3. Now 6 becomes 16 and subtract 16 -8 = 8.
(Tenths from Tenths)
Mt r 16862 b1 3ot (6 LE 0 3 F 8 262 Sk
(U By r )16 —8 =8y /0 7
Step2:  Place a decimal sign below decimal sign.
-J@ymd}ﬁ-“réiwustﬁﬂzrﬁ! /23
Step 3: 6 cannot be subtracted from 2, so borrow 1 from tens
place number 9. (2 becomes 12)
So,12-6 = 6. (Ones from Ones)
(atteet 122 A Sl e D LYl LE 7 3 F 6 f2: 0515
(Vb s D12 — 6 = 69
Step4: Subtract 8—4 =4, (TensfromTens) 8-4 =4 07 Gz
(Ve mU£0)
Hence the answer is 46.8. - 46.8 127

B )




@ Subtract the following. APt
a. Tens Ones Tenths b. Tens Ones Tenths €. Tens Ones Tenths

6 7 . 8 5 8 . 9 6 3 . 4
- 2 3 . 4 - 2 4 . 3 - 2 5 . 6
4 4 . 4 3 4 .6 3 7 . 8
d. Tens Ones Tenths €. Tens Ones Tenths f  Tens Ones Tenths
9 2 . 3 6 3 . 8 7 7 . 7
- 2 7 . 7 - 2 3 . b - 4 5 ., 9
6 4 . 6 4 0 . 2 3 1 . 8
g. Tens Ones Tenths h. Tens Ones Tenths
8 6 . 5 4 8 . 6
- 57 . 8 - 3 2 . 4

a. =2 . x5

5 7
C. 10 d. % ETY

@ Write the shaded part as a decimal fraction. _ufi,a' I S A S sk

a. b.




@ Write the place value of circled digits. =% 3560 esnzrcte i

a 316@= 0.7 b. 234.5 = _ 30
¢ 124@= _038 d @09.1 = _200
e. 67 8@= 0.4 f (85.4 = _700
g 4005.5= 5 h 88D 1= __1
. 9©@7.7= 90 j, 850.@= _09
k. 0 7.8= _100 . 9@0.5= _70
Shade according to the given fraction. AL LS ESs
a. b. c. ‘ 6 d [_5
7 8 — 2
10 10 10 3 10 :
h [ L I
@ Add the following decimal numbers. SAG S A1} 58>
a. 3 3 . 6 b. 1 4 3 C. 1 8 . 4
+ 2 2 2 + 1 1 4 + 4 1 .
5 5 8 2 5 7 59 . 7
d 1 4 5 e. 2 4 7 f 6 7 . 7
+ 1 5 6 + 2 6 8 + 2 4 ., 8
3 0 1 5 1 5 9 2 . 5

@ Subtract the following decimal numbers. ./J 7 Gt 4241} 309

a. 4 2 . 7 b. 2 4 . 5 ¢ 3 9 . 8
- 2 4 . 8 - 11 . 2 - 2 4 . 7
1 7 . 9 1 3 . 3 1 5 .1
d 3 8 .9 e. 4 1 .3 f 8 2 . 3
- 2 6 . 8 - 2 4 ., 5 - 3 7 .9
1 2 . 1 1 6 . 8 4 4 . 4




Factors and Multiples

- Student'’s Learning Outcomes: o~
After studying this unit, students will be able to:
e define factors and multiples. % 20
e find HC.F and LCM of the given numbers. ?*:ﬁ;{

Consider the following example. We have 12 balls, and we want
to divide them equally in various ways.

et/ ,»:""E;.;_;J,;.»-_u;é P 20 e oy Sof .,;J&&Tj’ 'L

s 2 2 2 2 2 2 2 2 2 £ 2 2
Out of 12 balls, one ball is given to 12 boys. Anld =17

s SN2 Ll 212
e = 2 = X = L = ¥ = ¥ = 2
Out of 12 balls, 2 balls are given to 6 boys. 2x6=12
-L.{?%’-,-”'/ LJJ( .fjﬁu: ,&*-;f;ma'.'.-;_)f u;_;;f 12

R = = 2 = = 3 = = 3 = =
Out of 12 balls, 3 balls are given to 4 boys. 3x4=12

A AU S L E e Lo 12
4. 990000000000

Out of 12 balls, 4 balls are given to 3 boys. 4x3=12
eI ot Ui 12

5. 0@ 00000 GO
Out of 12 balls, 6 balls are given to 2 boys. 6x2=12

Uikl S e U122
M = = = = = o= = = = = B 2

Out of 12 balls, 12 balls are given to 1 boy. 12x1=12
e LN g 12612



N e

We can write it as: o
L= 1 % 12 . =R
12 = 3 x 4 ; 12 =4 %X 3
12 =6 X 2 ; 12 = 12 % 1

- .
We see that product (multiplication) of all these pair of numbers is

equal to 12. So these all are factors of 12.
L1200 fdd e 120 PO B S o
If a number divides the other number completely then it is called the

factor of that number. PSR P I P Y L W (Y PR (V f
Write down the factors of: 2
a. 20 b. 30
20 = 1 x 20 30 =1 x 30
20 = 2 x 10 30 = 2 x 15
20 = 4 x5 Y = 3y 10
30 =5 X b
So, factors of 20 are AL 2002 So, factors of 30 are L 30
1,2,4,5,10 and 20 1,2,3,5,6,10,15 and 30
{@ Write down the factors of given numbers: vﬂkiﬂﬁlié:
a. 8 b. 9 c. 14
1,2,4,8 1,3,9 1.2,7. 14
d 24 e. 32 f. 36
1,2,3,4,6,8, 12, 24 1,2 4,8, 16, 32 1,2,3,4,6,09, 12, 18, 36
{@ How many factors does each number have? SLENE L s
a. 10 b. 15 c. 16
3. 2.5, 10 1. 3.5, 15 1, 2, 4, 8, 16
d. 18 e. 21 f. 26
1,2 3,6,9, 18 1, 3,7 21 1, 2,13, 26

B )
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Common Factors e F
Consider the following example carefully. S TS
Factorsof12are (1,(2,]3,(4,) 6, 12 12
Factorsof 16are |1,/2(4,]8, 16 kL 16
Factors of 20 are l! 5, 10, 20 e L20
We see that 1, 2 and 4 are present in factors of all three given
numbers. TP LUk AL o A2 S

Hence 1,2 and 4 are common factors of 12, 16 and 20
ZZOHTI&IZMJEJ}&"‘U’QJ@@

Remember: : Zy
When a number is divided by one of its factors, there is no
remainder, AT (L5 e e L oS
24 =1 = 24 24 + 2 = 12
24 +3 =8 24 + 4 = 6
24 +6 =4 24 + 8 =3
24 £ 12 = 2 24 + 24 =1 )

Find the common factors of 20 and 30

I ” &’ﬁ Factors of 20 =(1,(2/4, (5,10, 20 -J / r:""' :LFJ}%EJ(L:!Z(}
Factorsof 30 ={1,|2,/3,15,6, 10, 15, 30

Commonfactors = 1, 2, 5 oS 7
Note: 1 is the factor of every number. Every number is the factor
of itself. -?fﬁﬁ:l&w.‘};;fﬁ_f_.E'J?:kfu?ﬁ[

Highest Common Factor (E’l;lp

We have seen that different humbers can have some same
factors. B e LAl Sl

-——
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Factorsof 12 are 1,2, 3,4,6and 12 12564321tk 12
Factorsof 16 are 1, 2,4, 8 and 16 1658421tk 16
Hence common factors are 1, 2 and 4 421 e P A

Among these three common factors, 4 is the greatest factor. It is
called highest common factor. It is denoted by H.C.F.

Iy ,Q'wd‘-H.C.F#-La:.:-tﬂ!r‘H l:l;,-;;..:kﬁl’.{:.-n,.#4:,}fu::bbf /"-:t" e

Find the H.C.F of 18 and 24 PP 24 0 18
Solution.  Factorsofl8arel, 2, 3,6,9and 18
Factorsof 24 are l, 2, 3,4, 6,8,12 and 24
Common factorsof 18 and 24 are 1,2, 3 and 6
Hence H.CF = 6
Find the H.C.F of 30 and 50 L5030
Solution.  Factorsof30arel, 2, 3,5, 6,10, 15 and 30
Factorsof 50 are 1, 2, 5, 10, 25 and 50
Common factors of 30 and 50 are 1, 2, 5 and 10
Hence HC.F =

Prime Numbers /.1
The numbers which have only two factors are called prime
numbers. These factors are 1 and the number itself. 1 is not a prime
number because it has only one factor. Consider the following

numbers:
_%Jkag-iﬂ?d!fﬁ/uf:ﬁy;‘l_U{}':ﬁ:.f;;s!lJlﬁﬂa-(_,{}'ﬁdlly'/.mljlyi‘u:f;bu..jf"cﬁ.uﬁﬂﬁ#él
y4 Loé {Jlﬁldﬂir

2 3 5
2= 1 x 2 = 1 %3 5= 1 x 5
2=2x1 3= 3 x 1 9= O
f 11 13
7= 1 w7 il=1 % 11 13=1 % 13
= 7 &l 1l =11 % 1 P = ]3N]

B )
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In all these examples, you can see that all of these numbers have
only two factors, i.e, 1L and the number itself.
su038 9l 1 G{*‘u,"?:lp»».jﬁ qf:ﬂﬁf{'ﬁ S L.{}’EE{ e eGP
Some prime numbers are _Ulehy A
2, 3,5 7,11, 13,17, 19, 23, 29, 31, 37, 41, 43 etc.

Composite Numbers s/,
The numbers which have more than two factors are called
composite numbers. Consider the following examples.
-/ St L St 3{7;:_@{;5_.1&{ s e Ustslons s a3 (2l

4 6 8
4=1x4 6=1Xx6 8= 1 x 8
A= 20562 6= 20%3 8= 2 x 4
4=4 x 1 b= Bo%2 8= 4 x 2
6=6x 1 8= 8 x 1

9 10 12
9=1x 9 10= 1 x 10 12=1 x 12
9= 3 x 3 10= 2 x5 12=2x 6
9= 9 x 1 10= 5 x 2 12=3 x4
=101 = 2
12=6x 2
12=12 x 1

All of these numbers 4, 6, 8, 9, 10 and 12 have more than two
factors so they are called composite numbers.

- P [ﬁi'( Jfﬁf.ffr S ULJ <L es hic s :£. 12.510:9:8:6:4 ;Lu;lri? o

-—



@ Separate the composite and prime numbers:  :J o siuts s,
10, 11, 12, 13, 14, 15,16, 17, 18, 19, 20

Composite Numbers

| 10 || 12 || 14 || 15 || 16 || 18 || 20 ||

11 |[ 13 |[ 17 |[ 19 |[ B

Co-Prime Numbers il
Look at the pair of numbers 2 and 3. What are the factors of this
pair? St e t2tag fof B32e 52l siul
Factorsof2: 1,2 L2
Factorsof3; 1,3 L3
There is only one common factor here, and that common factor
is 1. Two prime numbers which only have number 1 as their common
factor are called co-prime numbers,
el el e 7K Auler e 1 Ao /-*."'),,_,,L:-_ e 7 L 2 Ul

@) Out of the given pairs of numbers, which are co-prime numbers?
020 I I e e sl A'.l.:!'ﬁfé:{,,,:

a. 6and?9

b. 7and9 Co-Prime Numbers
c. 9and16 Co-Prime Numbers
d. 8and13 Co-Prime Numbers

Multiples k24l
A multiple of a number is the product of that number and any
other whole number. For example multiples of 3 are 3,6,9,12,15,18 etc.

> ;f 1369121518t Jb}l£34)35 £Jﬁ'..{_r.}r.f ~N H’md‘( .r:bﬁu'i._ilp:ﬂg’:ﬁ(jf

B ) g
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Find first six multiples of: e e
L5 i. 9
First six multiples of 5 are First six multiples of 9 are
USeAALLS e L9
5,10, 15, 20, 25, 30 9,18, 27, 36,45, 54
@ Find first five multiples of: LI

a. 6 6,12 18, 24, 30
b. 7 _7,14, 2], 28, 35
c. 8 8,16, 24, 32, 40
d 13 _13, 26, 39, 52, 65

Prime Factorization (§,7,/
The process of representing a number as a product of prime
numbers is called prime factorization. For example, prime factors of

12 are found by division method.
E s LN2 b LSt § 7SS e g L p Lo Lsiits o L sse5”

2412 12 = 2x2x3

2|6

3|3 2 x 2 x 3 are prime factors of 12
1

Least Common Multiple (Fi_il2is3
Least common multiple of two numbers is the smallest number,
that is a multiple of both. It is represented by L.C.M. Consider the
following example.
4;{/(!5’; ‘gjf?‘(j" d;-@.ﬁﬁ_ﬁh«'ﬂ!&'}lﬁ@ﬁuﬁ;}.ﬁ'ﬁ:ﬁu{ ez uJ’. fum bzl 3630 4612

Find LCMof6and 8: A 1 8 6
Solution: ~ We first find the prime factors of 6 and 8.

..f,z?l./r r"sl"" sy A igxﬂﬁ%ﬂ:
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Primefactorsof 06 = 2|6

Jlu/a'f. E 3

So, 6 =2x3 1

Primefactorsof 8 = 2[38

AL E 4
212

So, 8 =2x2x2 11

For finding L.C.M, we write the prime factors of 6 and 8 as:

6 = x 3 s PL8ME AL Li S fi s
8 =12)Jx 2 x 2
Common factors = 2 oS

Non-Commonfactors = 3,2,2 &S~/
L.C.M= Product of common factors x Product of non-common factors

Fiowsis = _AS S X AL
= (2 x (3 x2x2)
=2X3x2x2
LCM = 24

Find the LC.M of 16 and 24. gt Fidon 624,516
lution:  First, find the prime factors of 16 and 24

16 24 foﬁ”:b;ﬁ&%ﬂllﬁ%
12

LSALSILSILS
ELSILSILS

i




Commonfactors = 22,2 &S~
Non-common factors = 2,3  &J7#

L.C.M= Product of common factors x Product of non-common factors
P = o AL RSP X o« S

= (2x2x2) x (2x3)
=8x6 = LCM =48

Encircle the numbers which are factors of 20.
2020 éumf.f_’uur

W2 3 WG 6 7 8 9 @0 ]

Encircle the numbers which are factors of 36.

vi.f.i'lpé 36 2 J" @uiux’iﬁﬂxldl
(23 5 (6) 8 11 (12 14 16 (@8 20
@ Encircle the composite numbers. L2 L ey

(2 3 () 5 (6) 7 9 (10 11
@2 13 @) 15 19 17 (19 19 (20
@ Encircle the prime numbers. LG 15/ 013
2 (3)6(7) 8 9 1) 12 14 15
1) 20 21 24 26 29 30 ()

@ Write all prime numbers between 30 and 50.
s o 5L 50,430

32, 34, 36, 38, 40, 42, 44, 46, 48
Write all composite numbers between 15 and 30.

i e L3015

17, 19, 23, 29

-——




@ Encircle all the multiples of 3 out of the given numbers.
Sl c‘.':a...!l;wl&:’:ri;" Pray = Jlﬁléi{,_-f

3 4 14 16
2:5@@%?@ 323

(8) Encircle all the multiples of 4 out of the given numbers.
-. - N I;;fé:_;lnﬁl['l? .{:4;’#@ sl ﬁlzé.—}

2 3 6 7(8 11 12 14 (@ 1
21 23 26 30@34..

Write first 6 multiples of the given numbers. _Vr:‘”_jwﬁ%;.,mi,JTJ
Numbers Multiples
5 5,10, 15, 20, 25, 30
6 6, 12, 18, 24, 30, 36
7 7, 14, 21, 28, 35, 42
9 9, 18, 27, 36, 45, 54
13 13, 26, 39, 52, 65, 78

Find common factors of: LS de S
a. l2and20 b. 16and20

Factorsof 12 =1, 2, 3,4, 6, 12 Factorsof 16 =1, 2, 4, 8, 16

Factors of 20 =1, 2 4, 5, 10, 20 Factors of 20 =1, 2, 4, 5, 10, 20
Common Factors = 1, 2, 4 Common Factors = 1, 2, 4

c. 15and?25 d. 18and28

Factors of 15 =1, 3, 5, 15 Factors of 18 =1, 2, 3,6, 9, 18
Factors of 25 =1, 5, 25 Factors of 28 =1, 2, 4, 7, 14, 28
Common Factors = 1, 5 Common Factors = 1, 2

e. 21 and 28 f 24 and 36

Factorsof 21 =1, 3,7, 21 Factorsof 24 = 1,2 3,4, 6,8 12, 24
Factorsof 28 =1, 2, 4, 7, 14, 28 Factorsof 36 =1, 2 3,4,6,9, 12, 18, 36
Common Factors = 1, 7 Common Factors = 1, 2, 3, 4, 6, 12

)




g. 20and30

Factors of 20 =1, 2,4, 5, 10, 20
Factors of 30 =1, 2, 3,5, 6, 10, 15, 30
Common Factors = 1, 2, 5, 10

Find H.C.F of;
a. l2and16

Factorsof 12 = 1,2 3,4, 6, 12
Factorsof 16 = 1, 2, 4, 8, 16
Common Factors = 1, 2, 4
H.CFis =4

c. 20and27

Factors of 20 =1, 2 4, 5, 10, 20
Factors of 27 =1, 3,9, 27
Common Factors = 1

HCFis =1

e. 24and40
Factorsof 24 =1,2,3,4,6,8, 12, 2
2

Factors of 40 =1, 2,4, 5, 8, 10,
Common Factors =1, 2, 4, 8
H.CFis =8

g. 26and42

Factors of 26 =1, 2, 13, 26

Factorsof 42 = 1,2 3,6,7, 14, 21, 42
Common Factors = 1, 2

HCFis = 2

Prime factors of 6 = 2 x[3
Prime factors of 9 = 3 x|3
Common Factors = 3
Non-common factors = 2 x 3

30and 48

Factors of 30 =1, 2, 3, 5, 6, 10, 15, 30
Factors of 48 =1, 2 3,4, 6, 8, 12, 16, 24, 48
Common Factors =1, 2, 3, 6

_L,_{/r':l*"(yl:k
b. 16and24

Factorsof 16 =1, 2, 4, 8, 16
Factorsof 24 =1,2 3,4, 6,8, 12, 24
Common Factors = 1, 2, 4, 8

H.CFis =8

d. 30and50

Factors of 30 =1, 2, 3, 5, 6, 10, 15, 30
Factors of 50 = 1, 2, 5, 10, 25, 50
Common Factors = 1, 2, 5, 10

H.CF is =10

f 30and45

Factorsof 30 =1, 2, 3, 5, 6, 10, 15, 30
Factors of 45 =1, 3,5, 9, 15, 45
Common Factors = 1, 3, 5, 15

H.CFis = 15

h. 28and35

Factors of 28 =1, 2 4,7, 14, 28
Factorsof 35 =1, 5, 7, 35
Common Factors = 1, 7

HCF is =7
NS I T
26 39
33 33
1 1

-— 0



LCM = Product of common factors x Product of non-common factors

= (3) x (2 x 3)
= 3 x 2 x 3
LCM = 18
b. 12 and 18

Prime factors of 12 =[2|x 2 ¥/ 3
Prime factors of 18 =|2|x 3 x| 3
Common Factors = 2 x 3
Non-common factors = 2 x 3

LCM = Product of common factors x  Product of non-common factors
= (2x3) x (2 x 3)
=2 x 3 x2x 3
LCM = 36
¢. 10and 22 2|10
Prime factors of 10 = (2| x 5 25
=12x 1 1

Prime factors of 22 1
Common Factors = 2

Non-common factors = 5x 11

LCM = Product of common factors x Product of non-common factors

(2) x (5 x 11)

2 x5 x 11
LCM = 110
d. 14 and 42

Prime factors of 14 =(2| x %
Prime factors of 42 =|2] x X
Common Factors = 2 x 7
Non-common factors = 3

LCM = Product of common factors x Product of non-common factors

2x7) x (3)
2Xx7x3

LCM = 42

B )

2
2
3

[~

|~ e |

E LS
O

22
11




e. 15and 42 s 2| 42
T
Prime factors of 15 = % 5 i 3121
Prime factors of 42 = 72 X x7 - 7
Common Factors = 3 1
Non-common factors = 2 x5x 7
LCM = Product of common factors % Product of non-common factors
= (3) x b x 2 x7)
= 3x5x 2 x7
LCM = 210
f. 18 and 20 2| 18 2[ 20
Prime factors of 18 = [2|x 3 x 3 319 2110
Prime factors of 20 = |2/x 2 x 5 313 el
Common Factors = 2 1 1
Non-common factors = 3x3x2x5
LCM = Product of common factors % Product of non-common factors
= (2) x (3 x 3 x 2x5)
= 2 x 3 x 3 x 2x5
LCM = 180
g. 16 and 30 2116 2130
Prime factors of 16 =|2|x 2 x 2 x 2 2|18 3115
Prime factors of 30 =|2)x 3 x 5 214 315
Common Factors = 2 212 1
Non-common factors = 2x2x2x2x3x5 1

LCM

L.CM

Product of commen factors % Product of non-common factors

(2) x (2 x2x2x2x3x5)
2X 2x2x2x3x5

240
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h. 20 and 35

Prime factors of 20 = 2x 2 x
Prime factors of 35 =

Common Factors = 5
Non-common factors = 2x 2 x7

LCM = Product of common factors x Product of non-common factors

= (5 x 2x 2x7)

= 5x 2 x 2 x7
LCM = 140
18 and 27

Prime factors of 18 = 2 x| 3| x |3
Prime factors of 27 = 3 x| 3] x (3
Common Factors = 3 x 3
Non-common factors = 2 x 3

LCM = Product of common factors x Product of non-common factors

= 3x3) x (2 x3)
= 3x 3 x 2 x 3
LCM= 54

2
2
El

2
3
3

20

10

5
1

18

19
3
1

|w|w|w

]
]

35

~




Percentage

After studying this unit, students will be able to:
e understand some basic concepts of percentage.
e find profit, loss and percentage of the given values.

a. 220 _ 220 : 10 b. 300 _300 + 100
250 250 + 10 400 400 + 100
22 _ 2 x4 _ 8 g9o -3 -_3x25 _75_ 450

T 25 25 x4 100 -4 4 x25 100 ~

@ Write down each percentage as a fraction. - =Le 5V aslh -

a. 15% b. 25% c. 35% d. 17%
15 0 25 _ 35 _aco 17 _
=00 =15% 00 25 % 00 35 % 00 17 %
e. 20% f 45% g. 35% h. 50%
20 _ _45 35 _ _50
00 % | o0 =**| Too * | Too 0%
. 55% J. 60% k. 75% . 90%
_55 _60 75 _ _90
00" =55% =00 = 60 % 00" =75 % 00 = 90 %
@ Write these fractions as percentage. _J.:Ju':ﬁ;j-.rr;rfu!
4 3 8 9
a. 1 b. =2 c. -2 d 2L
20 25 25 20
4 _ 4 x5 3 - 3 x4 8 - 8 x4 9 - 9 x5
20 20 x5 25 25 x4 25 25 x4 20 20 x5
- 20 - 2% |=12 - - 32 = - 45 - 459
=550 20% 100 12% 00 32% 100 45%




33_.33x2 [10_10 +10 | 20_20 + 10 | 25_25 + 5
50 50 x2 40 40 +10 40 40 +10 40 40 +5
_66 —ggo% |1 _1x25 2 _2x25 _5 _
=100 - °° 4 "4 x25 4 4 x25 g = 0625
= 23 =25% 20 = 50% | =0.625x 100
100 100 .
@ Write down these percentage as decimal numbers:
:u:‘j Sl S Az we
a.25% b. 33% c. 9% d. 19%
25 _ 33 _ 9 _ 19 _
=00 - 0.25 100 0.33 100 0.09 100 0.19
e. 36% f. 67% g. 120% h. 39%
36 _ 67 _ 120 _ 39 _
100 036 100 ver 100 L2 100 039
@ Find the percentage of the given numbers: /o3 Sy
a. 15% of 20 b. 33 % of 100 c. 15%of75
15 33 e
100 X 20 100 X 100 100 ;
A5
15 45
3 - =
- =3 =k =33 TR0
5t %
= 11.25




d. 20% of 100

20
100

20 . 160 = 20

- 2
160

g. 20% of 130

20
100

- %x 139 = 26

x 100

x 130

e. 25% of125
25
100 5125
25"
= 22 125
=Te0 X 5 =
207
= 31.25
h. 40 % of 200
40
100 x 200
_ 40 _
T 200 = 80

f

40 % of 160

40

100 X 160

=T4)%x 160 = 64

L
I

40 % of 450

40

100 X 450

=%x 454 = 180

@ Find profit or loss in following questions: :L,:)_F-Pduﬁgﬁ'“'u:auwijaﬂ

a. CP = Rs.150 b. CP = Rs.4450
S.P = Rs. 225 S.P = Rs.3,450
We know that: We know that:
Profit = SP-CP Loss =CP - SP
So, profit =  Rs.225 — Rs.150 So, loss = Rs.4450 — Rs. 3450
Profit = Rs.75 Loss = Rs. 1,000
c. CP = Rs.275 d. CP = Rs.6,000
S.P = Rs, 305 S.P = Rs.6,250
We know that; We know that:
Profit = SP-CP Profit =SP -CP
So, profit = Rs.305 - Rs.275 So, profit = Rs.6250 = Rs. 6000
Profit = Rs.30 Profit = Rs, 250

-—



e. CP = Rs.310 f.  CP = Rs.10,000
S.P = Rs.410 S.P = Rs.8,000
We know that: We know that:
Profit = SP-CP Loss =CP -SP
So,profit = Rs.410 — Rs, 310 So,loss  =Rs, 10000 - Rs. 8000
Profit = Rs.100 Loss = Rs. 2,000
g. CP = Rs.290 h. C.P = Rs.12,000
S.P = Rs.400 S.P = Rs.9,500
We know that: We know that:
Profit = SP-CP Loss =CP -SP
So, profit =  Rs.400 — Rs, 290 So,loss  =Rs, 12000- Rs.9500
Profit = Rs. 110 Loss = Rs. 2,500
. CP = Rs.460 J. C.P = Rs.42,000
S.P = Rs.590 S.P = Rs. 45,000
We know that: We know that:
Profit = S.P—-CP Profit =SP-CP
So,profit =  Rs.590 — Rs,460 So, profit =Rs, 45000 — Rs. 42000
Profit = Rs.130 Profit = Rs. 3,000

Find profit % or loss % from the following questions:
| a. C.P=Rs.2,500 LA A%l Yoz f 0

S.P=Rs. 2,000
We know that Loss = CP-=SP
Loss = Rs. 2500 - Rs. 2000
Loss = Rs. 500
Loss percentage = Lose x 100
CP
20
= X 100
125067

Loss percentage = 20 %

B )




b. CP=Rs.7250

S.P = Rs. 6,000
We know that Loss = CP-SP
Loss = Rs.7250 - Rs. 6000
Loss = Rs. 1,250
Loss percentage = Lg? x 100
25050
_ 1250 X 100 = 500
%4 29
29
Loss percentage = 17.24 %
c. CP=Rs.565
Profit = Rs, 50
Profit percentage = P(r:o:lt x 100
10
_ 50 x 100 = 1000
113
113
Hence Profit percentage = 8.85%
d. CP=Rs. 8900
S.P=Rs. 12,450
We know that Profit = SP- CP
Profit = Rs. 12,450 — Rs. 8,900
Profit = Rs. 3,550
Profit percentage = P?;it x 100
3550 3550
g0 * ¢ = g
39.88 %

Loss percentage =
-——



e. S.P=Rs. 7,225
C.P=Rs. 10,000
We know that Loss = CP-SP
Loss = Rs.10000 - Rs.7225
Loss = Rs.2775
2775
Loss percentage = 10000 X 100
2775 2775
L T = -
0sS percentage 10000° x 1097 00
Loss percentage = 27.75%
f C.P = Rs. 18,000
Loss = Rs. 600 )
Loss percentage = 2> x 100
CP
600 10
= x 1067 =
3W 3
Loss percentage = 3.33 %
g. S.P=Rs. 10,250
C.P=Rs. 14,250
We know that Loss = CP-5SP
Loss = Rs.14250 - Rs.10250
Loss = Rs.4,000
4000
Loss percentage = 2555 100
fg%ﬁ 2 1600
Loss percentage = X =
28557
Loss percentage = 28.1%

B )




h. C.P= Rs. 18,000
Loss = Rs. 1,200

Loss percentage

Loss percentage

. CP=Rs. 16,000
Loss = Rs. 4,000

Loss percentage =

Loss percentag

j. C.P = Rs. 2100
Loss = Rs. 900

Loss percentage =

Loss percenta

Loss

C.P
20

1200

x 100

6.66 %

Loss

5 X 100

E:

Loss

C.P
300

960

x 100

I
NN
N
co
&
X

ge

x 100" =

x 100 =

20

100

300
7

-—— 0



k. CP=Rs.15,000

Loss = Rs. 3,000
Loss percentage = Loss x 100
C.P
20
= 3600 x 106
15
Loss percentage = 20 %
C.P = Rs. 700
S.P = Rs. 900
We know that Profit = SP-CP
Profit = Rs900 - Rs.700
Profit = Rs.200
Profit percentage = Profit x 100
200 200
= x 1067 =
7007 7
Hence Profit percentage = 2857 %
m. C.P=Rs.670
Profit=Rs. 75
Profit
C.P
75 750
= x 10 =
678 g 67
Hence Profit percentage = 1119 %

B )



n. CP=Rs. 485
S.P=Rs. 678

We know that Profit = SP-CP
Profit = Rs678 - Rs.485
Profit = Rs.193
Profit percentage = 193 x 100
485
20
- I8 g 3860
i 97
Hence Profit percentage = 39.79 %
0. CP=Rs.8671
S.P=Rs. 10,980
We know that Profit = SP-CP
Profit = Rs.10980 - Rs.8671
Profit = Rs. 2,309
Profit percentage = 2309 100
8671
_ 2309 .00 _ 230900
8671 8671
Hence Profit percentage = 26.63 %
p. CP=Rs. 2250
Loss = Rs. 800
Loss percentage = 105 x 100
CP
160
860 2 320
= b4 ﬁ =
225 9
A5
Loss percentage = 35.55 %

-——



Angles and Triangles

Student’s Learning Outcomes: o~
After studying this unit, students will be able to:
e define basic concept of angles and triangles. Dt
e find and draw different angles. ?*]—1;{
When two rays start from a B
. «— Terminal arm
common point, they form an angle.
- - “ s Vertex
_Lﬂdt-;f:f}bgu;u,ﬁdﬁ&d /}:;..éﬁ' Jj*-f_g.,):‘ 'I.:é"'m..:-? l Kﬁ,lnitial arm
In given figure, O is a common 0 A

point of raysm and OB, so it is vertex.

OA is called initial arm and OB is called Terminal arm. We read this
angle in two ways.

- S FTOBsts A JLEI0A e 1y 1 O L5 S # OB SOALLE LS JSs

~dE e Ul iy

£ AOB or £ BOA
(Zsign is called angle) (o di/ siertid/)
Angles are always measured from initial arm to terminal arm. The
degree of an angle is represented by " sign. Consider the given

ﬁgure ,Lmlffwwlj’d/m]”!‘/df JL,'J'L%JJ}J”LJFI;;JLJI#IMQJQFLJU
_uﬁfﬁo‘&

A protractor is used to measure
the degree of an angle.

_.cz'._t*_rrdb'i"‘l'é. L %.Ldfid/ é...rlj/"g /54

The given angle is 45°. - ¥45° Sl
It is written as m/AOB =45° s
or mM4LBOA =45°




aswyy (W

@ Measure the given angles using protractor and write them below

the figures. L Je s e nl S b Sy s
a_/ ] R\W ]
D E 7 D Q: D D
45° 100° 90°

Types of Angles (Lfs’nfu;j:u

There are many types of angles. :L,grwiﬁcfg:d/u,;";l'j

®» Acute Angle: 5
An angle less than 90° is called an acute
angle. For example, Ly2lindle 60°
4)#&&-?%31”#)‘9‘3}”{ <90’

L ABC = 60°
So itis an acute angle. - ikl

®» Right Angle:
The angle of 90° is called a right angle.
Wi 90°
bl 176 A K90°
£ XQY = 90°, Q Y
soitisarightangle. SR (Y

-——




b LAt

®» Obtuse Angle:

An angle which is less than 180° but
greater than 90° is called obtuse angle. For
example, Y

Lot 15 5 sty 2 90" i < 180°2 13

£ BOC 160°, e

soitisanobtuseangle. -« .2 (5
®» Straight Angle:

The angle of 180° is called straight angle,

i
ettt K180°

180°,
-?-«.:'"-’Ffw' s

O

180°

B

L AOB
so itis a straight angle.
®» Reflex Angle:

A reflex angle is greater than 180° but

less than 360°. For example, I ol

L S Wb 5 ik = 360° 2 180°
LXYZ = 220°

so it is a reflex angle. _,;-_,;uu‘igiﬂﬁ

@ Measure the given angles and write their types below them.
,u:”ﬁ,g’;"f_“.ulruwfuu/yg,d/ugﬂ;{%:

220°

R ' k'

B )

& 40° | ¢ 130° | & 230°
/ b go° || d 180°
= L € 0 >
L J . . ) : /
[ Acute Angle I} .| Obtuse Angle | .| Reflex Angle
' [ Right Angle | /| Straight Angle |* /




L SRS | A
Triangles _*

A three sided closed figure is called a
triangle. I T N S A
In the given figure AB, BC and CA are three
sides while A, B and C are its three vertices.
AABC, ABCA and ACAB are different
names of triangle.

UL CoBAsE UL CA s BC ABUES G
il L el ACBA s ABCA: AABC

Types of Triangle
(with respect to angles)

(s ATIS el

(i) Acute angled triangle:
A triangle whose all three angles are acute
(Less than 90°) is called an acute angled triangle.
w2l sl sl
-+3 Ué/&ﬁ“{jljulvu:’f(r‘;-%o)ub é.ﬂiuiﬂ’ﬁ U el

A (ii) Right angled triangle:
A triangle in which one angle is of 90° is
called right angled triangle.

o :f—«lﬁfjl;’l -'Z'I.; F
B - C - QU Bl ol e e O0° b LT 2l S

-—



b LAt

(iii) Obtuse angled triangle:

A triangle in which one angle is
greater than 90° but less than 180° is called
obtuse angled triangle. s sy

o ol 180" Fatoskice 90" b3 L2 bl 5 -
-::'_JU?'/&.&*
Note: Sum of three angles of a triangle is always 180°.

- b 180" 2oL KU PIUE LS (5 1

@ Measure the angles and then write down the name of triangles:

LBy S S eSow

Acute

Right Obtuse
Angled Angled Angled
F Triangle: A Triangle y Triangle
Types of Triangles  5us¥
(with respect to sides) (& welipi)
(i) Equilateral Triangle: A
A triangle whose all sides are equal, is called
an Equilateral Triangle. 4cm 4cm
ABC is an Equilateral Triangle because all of
its three sides are equal. .
eblponfe |B 4em  C

N O T YV A e Ay
A LAR Lo o o f L LI ABC

B )




(ii) Isosceles Triangle:
A triangle whose any two sides are
4cm 4cm | equal, is called an Isosceles Triangle.
ADEF is an Isosceles Triangle because
two of its sides are equal. S leB O S
O BB OS e Um st £ 2 el
Lo Ko q..»:.’:ﬁ‘j lffldsl.-m..{f AABC

E

D bcm F

(iii) Scalene Triangle:

A triangle whose no side is equal to Q

any other side, is called a Scalene
Triangle.

/APQR is a scalene triangle because

all of its three sides are different. P S5cm R

dcm 3cm

S T
e O BN e, L eSS P 2l
A i L ol o e o il® (I APQR

@ Measure the following angles and write their measurement

“  below each figure: _uf%‘:;ﬁ,ujjﬁguf,ugé_%
a. b. C. | |
N5 / : \ 110°
, LR :
d. a e. f
I
X 220° 180°




@ Draw the angles of the given measurement: /e wZ Py
a. 40° b. 60° ) c. 90°
B// c E/ 3 / T
d. 110° e. 150° f.  180°
J
e
- o N 3| @ P R

Write down the names of angles after measuring them.

.gfﬁrLﬁulL.ijgJ uggu
M H »
p
2 /é 75° = / 60° “ 60°
o L | © G Q R
Acute Angle Acute Angle Right Angle
d. e. f.
v A
\ 120° N 140° \\ 115°
0 Ty o X B C
Obtuse Angle Obtuse Angle Obtuse Angle
i Y h. 180°
* /\ o200 | A
X U W
Reflex Angle Straight Angle

B )




@ Write down the names of triangles with respect to sides.

C,ML&;*LZ.U)""
2cm 2cm Equilateral 4cm  Isosceles
Trlangle Tnangle
Scalene 4, 3em Equilateral
Trlangle Trlangle
L Scalene
Scm Triangle
Isosceles
Triangle S Scm

@ Write down the names of trlangles wuth respect to angles:

a. A Acute b. A f_.,rub&rl. LU
Angled Right
Triangle Angled
Triang le:
B
Obtuse Obtuse
Angled Angled
Triangle Triangle
e. nght Obtuse
o Angled Angled
o Triangle: iangle

20°




After studying this unit, students will be able to:
e understand the concept of area and perimeter. S
e find area and perimeter of different geometrical figures. ?“]1;’{

The sum of length of all sides of a closed figure is called its

perimeter. _c o/l oo f KALISE I LS ™ 5cm
The perimeter of the given figure is
b FPES |3em 3cm
5cm + 3cm + 5cm + 3cm = 16cm
5cm
The perimeter of a trianglular region can be found in the same
way. e P by S S sk B st
Perimeter of given figure = L U Serm
= 6cm + 7¢cm + 8cm = 21cm 6cm
Jcm
@ Measure sides to find the perimeter.
S etund Lo sy
d. > cm b. 5 cm
3 em 4 qn V /
3 em
3 cm 5 m
Perimeter &s Perimeter L
5|+ 3|+ 3[+4|=]15|cm 3/+/3|+5[+5|=[16/cm




LS.\ 4

A o6m B
Look at the given figure: /¢, S5
The side AB has length 6¢cm. So we 3
e m 3m
can write it as ) ‘
& Hgd 1l e bem IS AL
em C
AB = 6cm
Similarly BC = 3cm, CD = 6cm and DA = 3cm LA
We can find the perimeter of this figure as: 25 /w26 i
Perimeter = AB+BC+CD+DA
= 6cm + 3cm+ 6cm+ 3cm
= 18cm
Perimeter of a rectangle or parallelogram can be found in term
of formula. I Pt o L riseiiomsa S

/
W W / /
; /
Here '/’ stands for length and ‘w’ stands for width.
_:‘;,gi'}gﬂ/c. W' J:I(:}LJJI Y Y,

Perimeter =l+w+/+w
=21 + 2w
=20 +w)
Find the perimeter of the given figures using formula.
Solution: -/ # beEUBIE S su S v

a.
4m Perimeter = 2(/ + w)
Here [ =4cm
2m 2m  and w = 2cm
- Hence, perimeter =2(4 + 2)
=2(6) =12c¢m

-——
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Solution:

Perimeter = 2(/ + w)

Here I=4cm
w=3cm
Hence perlmeter =2(4 + 3)

=2(7) =14cm

Example 2: triangle has sides measuring 9cm, 10cm and 8cm.
What is its perimeter?

fe bbb /1« 8emus10cm, 9cm Mbﬁiﬁaﬁvx

. Perimeter = Sum of all sides
1stside = 9cm
2ndside = 10cm
3rdside = 8cm

Hence, perimeter = 9cm + 10cm + 8cm = 27c¢m

The length and width of a white board in our classroom
is 180 cm and 150 cm. Find its perimeter.
g /erb1ee 150 amail80 cmdug s L ey s e
ution:  Perimeter = 2(/ +w)

length (/) = 180 cm
width (w) = 150 cm
perimeter = 2(180 + 150)

= 2(330cm) = 660cm
Find the perimeter of square with one side = 4 cm
U p‘%ﬁ'b’usaugﬁ cm & LG,
ion:  We know that square is a figure in which all four sides
are equal So if one side is 4cm then other three sides will also be of 4

cmlength. i dem@’ Lo/ 0.t l w0 L P e ST pa St
Hence the perimeter of square _9.5,;'5’:’;;&-&%11& duStunt L&

= 4cm + 4cm + 4cm + 4 cm = 16 cm
B )




@ Find the perimeter of the given figure using formula:

B IV A PR (R
Q. 7 cm Q
6 cm
Perimeter = 2(/
~ ﬂzT_] +5) U+m Perimeter = 2(/ + w)
5emf 5m = 2(6 + 4)
= 2(12) 4 cm 4 cm
= 24 cm = 2(10)
= 20 cm
7 cm 6 cm
8 cm
C lcm 1cm
8 cm
Perimeter = 2(/ + w)
= 2(8 +1)
= 2(9)
=18 cm
10 cm Perimeter = 2(/ + w)
= 2(10 + 2)
2 2
d 2em cm - 212)
10 cm =24 cm
15 cm
i 2cm 2cm
15 em

Perimeter = 2(/ + w)

2(15 + 2)
2(30)
60 cm

-— 3



Measure the sides of the given figures and write them at proper

places. -gfguﬁ.r.ﬂ:n;n_{f Fedtwsd Jeidss
a. 3 cm b. 4 cm
3 cm 3 cm 2cm 2cm
4 cm
5 cm
d. 4 cm
55 cm
3 am 4N —2 cm
5cm
e. - f 6 cm
3cm 2c 2cm




@ Find perimeters of the given figures. L L Jendss
a. 6 cm b. 8 cm
4 cm 4 cm 8 ¢cm 8 cm
6 cm 8 cm
Perimeter | 4 + 6 + 4 +6 = 20 Perimeter | 8 + 8 + 8 +8 = 32
[oh 7 cm d. 3 cm
7 cm 6 cm 4 cn'/ \cm
5cm 8 cm
Perimeter | 7 + 7 + 5 +6 = 25 Perimeter | 3+4 + 8 44 = 19
= 14 8cm
7 cm 4 cm
4 cm
10 cm & cm
Perimeter | 7 + 10 + 4= 21 Perimeter | 4 + 8 + 8= 20
5 cm
g 8 cm h.
5cm 6 cm
10 cm 7 cm
Perimeter (8 + 5+ 10+ 1 =24 Perimeter (5 + 6 + 7 + 3 = 21

-— 3



Find perimeters of rectangles using the formula:

a. I = 5cm

w = 4cm
Perimeter = 2(/ + w)
Here / = 5cm
and w =4cm
perimeter = 2(5 + 4)
= 2(9) =18 cm
c. I =10cm
w = 3cm
Perimeter = 2(/ + w)
Here / = 10cm
and w =3cm
perimeter = 2(10 + 3)
=2(13) =26cm
e. [ =9cm
w = 1llcm
Perimeter = 2(/ + w)
Here / = 9c¢m
and w =1lcm
perimeter = 2(9 + 11)
=2(20) =40cm
g [/ = 75am
w = 4cm
Perimeter = 2(/ + w)
Here / = 75 cm
and w =4cm

perimeter = 2(7.5 + 4)
=2(11.5) =23 cm

B )

_L,_{fr:h‘hffﬂulfi.r‘ﬁ
b. I = 8cm
w = 4cm
Perimeter = 2(/ + w)
Here I = 8cm
and w =4cm
perimeter = 2(8 + 4)
=2(12) =24cm
d [/ =9cm
w = 13 ¢cm

Perimeter = 2(/ + w)
Here / = 9cm
and w =13cm
perimeter = 2(9 + 13)

=2(22) =44cm
f I =6cm
w = 6.5 cm
Perimeter = 2(/ + w)
Here I = 6cm

and w =6.5cm
perimeter = 2(6 + 6.5)
=2(125) =25¢cm

h. I = 85cm
w = 3cm
Perimeter = 2(/ + w)
Here I = 85cm
and w =3cm

perimeter = 2(8.5 + 3)
=2(11.5) =23cm




Find area of the given figures: A r#fj;fJEﬁlaﬁ;
6 cm
5 cm 5 cm 3 cm 3 cm
6 cm
> m Area of rectangle =/xw =7
Area of square =/x/ =7 =6x3 =18 cm’
=5x5 =25 cm’
« d.
8 cm
4 cm 4 cm
8 cm 5 -.::m

Area of rectangle =Ixw =F | Area of triangle = % X (b x h)
=8x4 =32 am’

X (5x6)

X 30 = 15 ¢cm’

R NI

-—



e. f

3 cm

45 cm

3 cm

Area of square =Ix! =7 9 cm

=3x3 =9m’

Area of rectangle =Ixw =F
=9x45 =40.5cm’

7.5 cm
Area of triangle = T X (b x k) Area of triangle = % x (b xh)
1 1
=Tx(9.5x4) =5 X (7.5 x 6)
=% X 38 =19 em’ %145 22.5 cm’

5  Arectangular room is 21m long and 15m wide. Find the area of
he room, .
theroo S K f e i1 5mund 21me SEE L

Areaofroom =Ixw =F
=21x15 =315m’

B ) P




6 Aplotis 18 mlongand 8 m wide. What is the area of this plot?
'?r:_.b:k'/ SN 8musid ] 3!11:..‘.:!&-{1

Areaof plot =/xw =7
=18x8 =144 m’

7 Atriangle has height of 6.5cm and its base is 7cm. Find its area.
gL S e Tem 6. SamB S e ds G

Area of triangle = % X (bxh)
=2 x (1x65)

=% X 455 = 22.75 cm’

8  Arectangle has length 8cm and width 5cm,A square has one of
its sides 6 cm long. Which shape has the greater area? What is
the difference between their area?

S k) S K SV 6emBU SN LAY p Lo Semligm8amdS L™ L

fe IR L
Area of rectangle = Ixw =F Area of square =Ix/ =F
=8x5 =40 cm’ =6x6 =36cm’

Rectangle has the greater area.
Difference between their area: 40 - 36 = 4 ¢cm’

9 -—



After studying this unit, students will be able to:
e represent the given data into useful information.
e draw different types of graphs.

Information handling is a branch of statistics which deals with
the collection, analysis, explanation and presentation of data.
..:.E:.L}rr { K{J-a':-d-/ ﬁlF;’-L:lé.-/ - thi./; f Sy l.a?fhlf:’.’q.. E,L”h.{lgf #I‘;lﬁdﬁmlﬁ"

Data »i»
A data is a set of informations and facts represented in the form
of figures. L LA A Erad e 6T B s

Presentation of Data /1K)

A data is collected in raw form and it provides us information
about individuals. Data in such form is called ungrouped data. After
arranging the data for described information, it is called grouped
data. For example a teacher collected the marks of 20 students in
mathematics test.

T Ll 58 s b Sa A A e b S A pehd e A L s e Bl Mo 6
..c;grﬁ‘:nfw bﬁ&Zﬂgﬂ#ﬁﬁﬁf EIL,ﬁfug{Jjbﬁdﬁ'-é:_t'M .ﬂf{ﬁu’ﬁ gi‘!&:‘,‘.*.m._.ff:{;j i
30, 35, 10, 25, 46, 75, 95, 80, 70, 65, 55, 95, 74, 66, 30, 21, 26, 45, 50, 61
This is ungroup data. Now if we arrange it to represent information in

groups, then it is called grouped data.
-%mﬂlr&:);iﬁq Py s U ié.clid.-f bl [‘Ef Lc;.-:'!’*{ﬁ:ﬁ o

Number of students obtained marks from 10 to 40 = 7

7= 40&104J‘b;2ﬁ_uﬁ?ﬁﬁd'}



S A

Number of students obtained marks from 41 to 70 = 8
8= 7041 L Vb Ay b

Number of students obtained marks from 71 to 100 = 5
5= 10071L S0 Al us?ad S b
It can be seen that it is easier to visualize the given information, if
given data is presented in grouped form. Now we arrange this data

using a table:
Jf:} ..gl}(,'rlf{j' If‘?.__,i..ﬂf ¢ :Lﬂf d;,,f; J Iugé @raf}b’fﬁ A Ll L?é $1.07 ;,,Eé a{ Jr‘?
..‘,f.g..:a..--f;,ud’
11 — 40 || 30,35, 10, 25,30, 21, 26 Ll
41 — 70 ||46,70,65,55,66,45,50,61|| M Il 8
71 = 1001|75, 95, 80,95, 74 U 5

The method used in this table is called tally method. We draw a
single line 'T' for displaying marks (value), TI' lines means 2 values, I
means 3 values and so on. If we want to represent 5 values, we shall
use 4 straight lines and a cross line, like ‘HI'means five values.

Wt “PifsLifd Lo sP il s e S S namding fat S
Stz el 6 2 BAS UL Loyl p s if ek IS b 2 ki B o
e B M e S ST S n 1L SIS A s

@ Draw a tally table for the favourite fruits of students of class 4.
M‘tzd’fféiu%%,géfwir%ym
mango, mango, apple, melon, water-melon, grapes, mango,
mango, grapes, melon, apple , apple, banana, banana, banana,
mango, mango, apple, water-melon, melon, apple banana, apple
melon mango, mango.

-——



Solution: EMHe ¥ | Tally Marks ey

No. of Students .7 b

Mango Ml 8
Apple M 6
Melon [l 4
Banana | 4
Watermelon | 2

Pie Graph i) Jg

A graph in which data is represented by sector
of a circle is called a pie graph. A
A

We normally use a graph for comparison of
data. In this graph we draw a circle of suitable radius
and as we know a circle consists of 360° divide it into sectors
according to given values. It may look like as:

Let us starts with example:

A Lamuﬁ_i,m;_ﬁb’wu._.«vrﬁﬁ._ﬁ T SIS Ly A Ly S o
e P ugd ot S f"“' e 13 £ st A Sr-t 85 360° Ll SUtE b
A S fe e S AT

Read the following pie graph which is
showing the favourite fruit of 900 boys.

eSS S s it £ S H900202 1 S By st s

.. How many boys' favourite fruit is mango?
?.:'_.('fug AT 5’{,}')( P&
i.  How many boys' favourite fruitis banana?  t W s cu/ V2

iii. How many boys' favourite fruitis apple? S s fFoiigud /L

b Sy el B AP S B L e I i g {vv

iv. How many boys’ favourite fruitis grapes?  fui- IS ox bV

B ) P




Solution:  We can find a quantity by the given angles. For this
purpose, we use the following formula.
LSy St s Lad gt S e g s

Required quantity = gwegszngle X total quantity

35 15

i. Mango = % x 900 = 35 x 15 = 525 boys
61
153, 150

ii. Banana = 360 x 960 = 150 boys
91
25 .

iii. Apple = 360 X Qﬁﬁ = 25 x 5 = 125 boys
24

‘ le 100

iv. Grapes = 360 X 900 = 100 boys
91

Bar Graph _i./\

A graph in which data is represented by a number of rectangular

bars is called a bar graph. .
-?.mfdu'ﬁy et b su $n L,!fh'} Db NI
A bar has specific width and equal distance from the other bars.
We use two rays to draw a bar graph which are called axis and
marking on axis is called its scale as shown in the given figure;
(EIJ?’/ )’gfﬁ-tﬂi-/ J s l:ﬁp:gj.c!:é_h-.ilf Al 4 Lol JAS 26U UJG!L’:JJL
e PG St W& AL At

-——
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Y-axis
“‘I |II| >
Mar Apr X

-axis

/A

100

g
50
i ] I
0

Jan Feb

Reading the Bar Graph bm,?,dl)jl,

The above bar graph represents the marks obtained by Ahmad

in four tests. b s S S et i de Lt LA g
I.  Infirst test he scored 25 marks and it is his lowest score.

LA Ly A2 LSSt b

ii. Intest2 he scored 50 marks, & 50t
iii. Intest 3 he scored 100 marks. & A100U e

iv. Inlasttest he scored marks between 25 and 50. Use your scale to

measure value on a graph paper or simply add the two values and

divide them by 2. i.e,
('}:'/u:?Jsiﬂdﬁfdﬁ’ibkc,;@.afé,ﬁE.lgFjié;f‘loﬁ;dy;r&S@@EULJ&EMLf}f

25 +50 _ 75 _
5= = Ty

Drawing of a Bar Graph (t._i.}

Drawing of a bar graph is not very difficult. Here are the steps
how to construct a bar graph. )
el Lttt h e S ittt
.. Carefully read given values and note the maximum and
minimum values. g Sasd| LJ::" ,qf .:.u,.f;ﬂuy:..,.rwi;ﬁ{h:.c)gﬂjf {_}J':; Jf s

B ) a




sy (W

ii. According to these values draw a suitable scale,
..u:.évgkc b!.fb*_{i&@iu; o
lii. Now draw/plot value according to your scale.

Sl e LS
Farooq spent rupees on different days of week which
are given in the form of a table.
_wé.«.;._..-.g,.utf deﬁﬁ-éﬁ%uuﬁu;mr’ﬁﬁi-ﬁuﬁ
Days Mon Tue Wed Thu Fri
Rs. 600 450 500 400 250

By using above table, draw a bar graph. St J}&#&Jﬁﬂ!f

Solution:  Here minimum and maximum values are 250 and 600,
so we have to choose a scale which represents both these values and
values between them.

J( f}JJ uynd:up;rrf;uﬁuw!ﬁﬁ:.h'ng,f -.-{:il,ﬁq -.,-ri.;,EﬁﬂGJsIZS{}r‘; Jv:&ia’.’.n};bsl;f -:."-|r g
-.r‘..-fﬁw
.. Firstdraw two lines at right angle for X-axis and Y- axis.

-u?g y-axissix-axis¥ U342l A6
ii.  On X-axis draw points of equal intervals for representing
days in bars, SO P, L L8 S 6 UdtiA gx-axis
iii. ~ On Y-axix every gap between lines is equal to Rs.100
-..dt'..{"..fi 100 Lebd 2 58U5 s LY -axis
iv.  Now, draw bars according to the given values. - /tA 6L 2G5
¥-axis

F. 3
800
SO0
."I_l:}l":\j
300
200
100
0 >
Maon T Thu Fr

e Wed h I X-axis
Days

-———

Rupees




@ Read the given bar graph and answer the following questions:
Y :..,.J.v“:‘i:c.f s f 5 sssst & J:;:r =7 A i#f )

Y-axis
400
350
300
250

200
150
100
50 .
0 >

Hockey  Football  Cricket Tennis X-axis

Mumbers of Students

Favourite Sports

.

i.  Which sport is least favourite? ~ Cricket teosidf e Sl
ii. How many students like cricket? _275 Sl S eSS
iii. How many students like hockey and football? 150 + 225 = 375

D20y WP &E-'/
iv. Calculate total number of students. _ 725 LSS e f

v, Calculate the difference between the students who like cricket
and tennis. 275 = 75 = 200 _; /5o nd ML il Sy oE eSS

@ Aslam earned profit on different days of week, which is
given below in the form of a table.
e ot P LB 2 U L M
BEVES Mon Tue Wed Thu Fri
Rs. 800 1300 | 900 600 700

By using data draw a bar graph.

B )

-gf i) .aiu;:...u.(_; sy




Represent the given data into table form using Tally method.
“ These are the marks of 20students in a maths test.
S Lot et L FE W20 S LSS e 3 pEE
38, 40, 56, 70, 75, 94, 99, 20, 79, 67, 55, 81, 30, 16, 100, 10,
50, 60, 73, 67
Take first group 10 = 40, second group 41 = 70 and third
group 71 - 100,

No. of

10 — 40 || 10, 16, 20, 30, 38,40
41 - 70 || 50,55, 56,60,67,67,70 ]Il‘[ II 7
71 - 100(|73, 75,79, 81,94, 99, 100 M 1II 7

@ Use Tally marks to represent amount of rain in mm in a rainy
season. T e YIS LT A s tmmUte
30, 60, 110, 90, 120, 60, 30, 15, 44, 45, 80, 37,46, 67,77,79
40, 40, 80, 45, 88, 130, 110, 125, 90, 95, 70, 65, 60, 49
Make four groups of 1-35,36—-70, 71—-105 and 106 — 140.

-——



uden s

1-35 15, 30, 30
36 =70 37,40, 40, 44, 45, 45, 46, 49, 60, 60, 60, 65, 67, 70 IEIIE[DII 14
71- 105 ||77,79, 80,80, 88, 90, 90, 95 HIII 8
106 - 140 | | 110, 110, 120, 125, 130 HI 5

Heights of a class of 40 students are given in inches.
Represent these values using Tally Method.

-/ J, ;'lFf ['5’ sl /!’ L&f -c;.df:f g I'Jliﬂ(f LA0L s L?u.fl
75,71, 67,64, 53,48, 50, 54, 66, 63, 60, 49, 51, 53 66, 70, 65, 65,
61, 54, 54,56, 50, 53, 61, 61, 56, 71, 75, 75, 74,53, 46, 57, 58, 62,
61, 54, 53, 49.
Make five groups as 40-47, 48-55, 56-63, 64-71 and 72-79

No. of
M
Groups Marks Tally Marks e

40 - 47
48 -55 43, 49, 49, 50, 50, 51, 53, 53, 53, 53, 53, 54, 54, 54, 54 EIEEI 15
56~ 63 || 56,56, 57, 58, 60, 61, 61, 61, 61, 62, 63 JHTIHI I 11
64 — 71 || 64,65, 65, 66, 66, 67, 70, 71, 71 JHT NI 9
72 - 79 || 74,75, 75,75 il 4

Read the following pie chart which is showing the favourite

vegetables of 600 boys. el b a2 8Us76002% {_,Jbt_;k [l
i. How many boys ‘ favourite vegetable is cabbage?

i'.;_Lfffd;ﬁmJufﬂal’
10
120 20
e X 0=
A

B )

10 x20 = 200 boys




ii. How many boys ’ favourite vegetable is okra?

. S Shr S roantSUiIL
91 5
= Sz= x 800 = 27 x5 = 135 boys
o
iii. How many boys ‘ favourite vegetable is spinach?
S rropagdu I

20

5
= % x 800 = 20 x5 = 100 boys

iv. How many boys ’ favourite vegetable is potato? T /5 res2fus’E

20
50

5
= ? X 600 = 20 x5 = 100 boys
v. How many boys * favourite vegetable is turnip? s 2 zc2§us 72

13

5
= &5 x 608 = 13 x5 = 65boys

Z

This pie chart shows the liking of 720 students in school for
~ different games. Answer the following questions.

ez Lz} e 6 St SRS S MT20L 5" e ddy

i.  Inhow many sectors pie graph is divided? i
Tl B ) dy @

The pie graph is divided into 4 sectors. 5LV, I S
. [40°
ii.  Which game is most popular and which is least? >

?sf'..yh; L-'uj)/ﬂ::'y |‘( st e o
Cricket is the most popular and hockey is less popular game.

-——




ii. How many students like to play football? - i /e ios b2

= 2 %@-50 2 = 120b
_ﬁg){ = X2 = oys

iv. How many students like to play hockey? AL SN

2
= % xé@= 40 x2 = 80 boys
v. How many students like to play cricket? -l Jegbd o b0

2
g
_ % x 720 = 180 x2 = 360 boys

3
This bar graph shows the amount earned by Zahid in six days of
~ week. Read the graph and answer the following questions.

remz Lt Sty et 60U Sende S E S aii) by

i

Y-axis
600
300
400
200
200
100
L)

Rupees

Tussday
Friday

Manday
Wadnesday
Trursday

saturdaly

Days
I.  What total amount Zahid eamed in 6 days? = Rs. 2,200
ii. Inwhich day, did he earn maximum amount? = Saturday

lii. In which day, did he earn minimum amount? = Wednesday
iv. How much he eamed in first 3 days of week? _- g
v. How much he eamned in last 3 days of week? ~ _ ps 1 300

B )



This bar graph shows the number of toys sold on Sunday at a
toy shop. Read the graph and answer the following questions.

2L S s g2y A e b S A6 NI UIE L1 S ATy IV A

i.
ii.
iil,
V.
v,

¥-aoiis

tumber of toys
(=

How many cars were sold? = 34
How many more buses were sold than bears? = __2 Busses
Which toy was sold the most? = Balls
How many yo-yo were sold in all? = -
Which toy did the shop-keeper sell the least? = Bear
Draw a bar graph using the following data:
ﬁ.z.}"b...!Lr':L et d/ sl z&._a;_,
Month Jan Feb Mar April May

Profit(Rs.) 9,000 | 6,500 | 4,000 | 10,000 | 8,000

Y-axis M
10,000

9,000
8,000
7,000
6,000
5,000
4,000
3,000
2,000
1,000

0

Feb Mar April May  X- a:nus
Months

(_

Profit




Temperature (in centigrade) of some cities are given.
"~ Represent this information in bar graph:

_uf):fwgﬁgﬁgﬁlﬁf#hh”-dﬁ-ﬂf{ptg&r}#ﬁfﬂw:gu:fJé:

Cities London Otawa Berlin Tehran Delhi
Temperature | 4°C 10°C | 12°C 18°C 120 °C

Y-axis A
20°C

18 °C
16 °C
14°C
12°C
10 °C
8°C
6 'C
4°C
e
0 >

London Otawa Berline Tehran Delhi X-axis

Temperature

Cities




